Production Possibilities

	Country
	Computer Production
	
	Grain Production

	Germany
	15 computers
	 or
	5 Tons of Grain

	Poland
	4 computers
	 or
	4 Tons of Grain


Opportunity Costs 

	Country
	Opportunity cost of 1 computer in terms of tons of grain
	Opportunity cost of 1 ton of grain in terms #s of computers

	Germany
	1/3 ton of grain
	3 computers

	Poland
	1 ton of grain
	1 computer


1. Who will trade what? Since the lowest opportunity cost for 1 computer is Germany’s 1/3 ton of grain, Germany will tend to specialize in computers; since the lowest opportunity cost for 1 ton of grain is Poland’s 1 computer, Poland will tend to specialize in grain.

2. At what range of prices? Germany will export computers.  Pre-trade, Germany received 1/3 ton of grain for one computer.  Hence Germany will want more than 1/3 ton of grain when it trades with Poland.  Implicitly, Germany wants less than 3 computers per ton of grain.  So 1/3 < G/C or C/G < 3 is the acceptable range of prices for Germany.
Poland will export grain.  Pre-trade, Poland received 1 computer per ton of grain.  Hence, Poland will want more than 1 computer per ton of grain when it trades with Germany.  Implicitly, Poland wants less than 1 ton of grain per computer.  So 1/1 < C/G or G/C < 1/1 is the acceptable range of prices for Poland.
3. Gains from Trade??  Suppose the prevailing post-trade price is 2 computers for 1 ton of grain (= 1 computer for 1/2 ton of grain).  Note that this price is acceptable to both Germany and Poland.  Further suppose Germany trades 4 computers for 2 tons of Polish grain.

	Country
	Produc-tion & Consump-tion:

Without Trade
	Produc-tion:

With trade
	Trade: With trade
	Consump-tion: 

With trade
	Gains from trade

	Germany
	2 tns of grn
	0 grain
	Gets 2 tns of grn
	2 tns of grn
	0

	
	9 cmptrs
	15 cmptrs
	for 4 cmptrs
	11 cmptrs
	2 cmptrs

	Poland
	2 tns. of grn.
	4 grain
	Gives 2 tns of grn
	2 tns of grn
	0

	
	2 cmptrs
	0 cmptrs
	for 4 cmptrs
	4 cmptrs
	2 cmptrs


